Unverschamt ?

IF | FARM-ERWEITERUNG
Kostenin i$  Insel-Dollar ) - oder - GOLD | Zeit =+ 1, . b+ 3, we 4| Belohnung in Muschel + irgendwas
N i$ (Insel-Dolar ) GOLD ‘ m!1 | HH 2 | HH 3 | HH 4 : _Belonmmg :
| 0% | ) [ 20w | 0w @ ] wsitzich Fod | igendwas
1,2,3,4 schon vorhanden bei Farmerstellung L4, RS, B4, BS
5 25.000 50 0:10:00 0:08:00 0:07:00 25 90 Crangen| AL
5 59.000 350 0:15:00 0:10:30 100 120 Erdnisse| 22
7 95.000 900 0:20:41 0:14:41 200 30 Wentrauben| A3
8 175.000] 1.050] 0:27:03 I 300 2 Troperlaub| DB Osseder Unstgiet
9 280.000] 1.250 0:34:06 600 25 Mengos| B2
10 430.000| 1.500 D:41:51 | 800 2 Kokoenisss| B3
11 600.000] 1.800 D:50:16 0:35:11 1.100 15 Bananen|  C1
12 820.000| 2.150 0:59:22 0:47:29 0:41:33 1.500 d0xMet| €2
13 1.100.000] 2.500 1:10:00 0:55:19 0:48:24 1.800 180 Crangen| €3 graleFPame|
14 1.500.000] 2.850 1:19:40 1:03:42 0:55:44 2.400 240 Erdnisse| €4
15 1.900.000] 3.200 1:31:41 1:12:37 1:03:32 2.900 60 Weintrauben| €5
16 2.500.000] 3.550 1:42:38 1:22:06 1:11:50 3.400 S0x Troperlaub| D1
17 3.100.000| 3.900 1:55:09 1:32:07 1:20:36 4.000 15 Pfauen| D2
18 3.900.000 4.250 2:08:22 1:42:41 1:30:00 4.700 10 Lemuren| D3
19 4.800.000] 4.600 2:22:16 1:53:48 1:39:35 5.400 30xrDinger| D4
20 5.900.000| 4.950 2:36:50 2:05:28 1:49:47 6.100 100 Tropenlaub) Ksine Pame/
21 7.100.000] 5.300 2:52:06 2:00:28 6.900 50 Mangos [ AN Beguems Hangemats
22 8.500.000| 5.650 3:08:03 2:11:38 7.700 30 Prauen| E2
23 10.000.000] 6.000 3:24:41 2:23:16 8.600 25 Lemursn|  E3
24 12.000.000| 6.350 3:42:00 2:35:24 5.600 150 Tropenlaub]  E4
25 14.000.000] 6.700 4:00:00 2:48:00[ 10.500 T0xiDinger] ES
2015 1
IFg | FARM-ERWEITERUNG
Kostenin i$ ( Insel-Dollar ) - oder - GOLD | Zeit =+ 1, . HH 3, re 4| Belohnung in Muschel + irgendwas
N i$ (Insel-Dolar) GOLD | HH 1 | HH 2 ‘ HH 3 ‘ HH 4 : -Belohnung :
] IEEEEEED [T zusitzlich Fod | gendwas
1,2,3,4 schon vorhanden bei Farmerstellung A4, A5, B4, BS
5 25.000 50 0:10:00 0: 08:00 0:07:00 25 SoxOrmrge|  B1
6 66.000 390 0:15:00 0:12:00 0:10:30 100 20xErdnisse| B2
7 82.000 770 0:20:41 0:16:41 0:14:41 200 Werirauber| B3
B 200.000] 1.200] 0:27:03 0:20:41] _: : | 300 5 Trperiat | B
9 360.000[ 1.600 0:34:06 0:27:16 600 25xMargos| B2
10 610.000[ 2.100 0:41:51 0:33:28 88 | 800 2 Kokoseasse| B3
900.000] 2.700 0:50:16 0:40:12 0:35:11 1.100 15xBaranzn|  C1
12 1.300.000| 3.200 0:59:22 0:47:29 0:41:33 1.500 aoxmisf  C2
13 1.800.000| 3.900 1:10:00 0:55:19 0:48:24 1.900 80k Omrgs| €3
14 2.400.000| 4.500 1:19:40 1:03:42 0:55:44 2.400 MOxErdnjsse| 4
15 3.100.000] 5.200 1:31:41 1:12:37 1:03:32 2.900 SoxWiginrsuben| TS
16 4.200.000| 5.900 1:42:38 1:22:06 1:11:50 3.400 SOx Tropeniswb| D1
17 5.400.000| 6.700 1:55:09 1:32:07 1:20:36 4.000 iSxPlum| D2
18 6.900.000| 7.500 2:08:22 1:42:41 1:29:51 4.700 0xlemurer| D3
19 §.800.000] B.400 2:22:16 1:53:48 1:39:35 5.400 3ci-Dinge] D4
20 12.000.000 9.300 2:36:50 2:05:28 1:49:47 6.100 100xTrapeniad) Kieine Pame
21 14.000.000| 10.000 2:52:06 2:17:36 2:00:28 6.900 50 Margos [ AN Eeguene Hirgem |
22 17.000.000| 11.000 3:08:03 2:30:24 2:11:38 7.700 TxPlauer| E2
23 20.000.000] 12.000 3:24:41 2:43:12 2:23:16 8.600 o5xlemurn| E3
24 24.000.000| 13.000 3:42:00 2:57:36 2:35:24 9.600 150xTroperlab|  E4
25 30.000.000| 14.000 4:00:00 3:12:00 2:48:00] 10.500 T0ci-Dirge| ES
153.143.000] 123.410] t
= +365 KlsneFsime

Srgemate




